¥oybAr—F 100m

K4 FEFFIR %32 | No. 1E 8 JIE {3 2[EH BARIERL

1 & Eif IKEE [IKBEm |s8FExr—| 1 14.167 1 14114 1
7 KE 2 |BHME |FEWm [BFL—T| 7 11.498 1 11.450 1
3 WH E IBFEE (JOWm |BF+—7| 3 11.942 2 11.989 2
2 NI B | EER [JNET |BF—T| 2 12.227 3 12.225 3
4 B 1SE ([BHME |2H™ |BFA—T| 4 12.276 4 12.297 4
5 Wl B |[Bae |[wam |zer-7] 5 12.545 5 12.649 5
6 i 2= (KRR [ZABRM|B8FH—T| 6 13.181 6 13.055 6
8 Bl F¥F |BEER [(HBIH|xF—T| 8 15.916 1 15.894 1
12| BE X |BHE [BEE |zer—7=7] 12 13.757 1 13.309 1
10 | WA F1R |KBRAF |3/ mrr—7v=7| 10 13.962 2 13.882 2
9 KB —H |HEBEER |&)H  |s+r—7e=7| 9 14.440 3 14.450 3
11| IO FiE | XERF ||/ mrr—7v=7| 11 14.984 4 14.668 4
13| KiB3 =— |ZEB | z—ri—v=7| 13 13.118 1 13.016 1
14 | FEHREZR (KEE |BEHRMH |z—s—=7| 14 14.098 2 13.713 2
15 | &5 OYF |[EER |FEAWH  |x7zx2s+| 15 15.479 1 15.014 1
16 | Hh FEA [BEME |BHEM|[=sxr=| 16 12.243 1 - 1
18 =S B [FER |WPF™  |mree=r| 18 12.696 2 12.756 2
17| A% Eif |TEER [FMH |zs2—r=7| 17 12.823 3 - 3
19 | & Eth [EHME  |WATH  [=szsr=7| 19 - -
20 | W % [FER |F™  |sFmeas—+| 20 11.145 1 11.329 2
23 | HF B% (KBRER |&FET |7z —+| 23 11.161 2 11.003 1
22 | bk BE | KREF |[$Ah PR~k 22 11.425 3 11.232 3
21 | AT %8 [BRR  |BHET | 27oer | 21 11.496 4 11.561 5
24 | FHIMEL [FERE |#XFH |s7ze—+| 24 11.585 5 11.402 4
25| BH F [EHME |2H™ |sFoeast| 25 11.944 6 11.845 6




